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1.14 FE+7<EE

EW Rd (1,1,0), (1, -2,1) £ &89 R3 695 = 0.
(1) KW #—2aAn A&,

(2) K W e94rEETA.

(3) K@= (0,0,2) £ W #9.ELHKF.

)

B ELEMER: B = ar = (1,1,0),8, = ap — @200 — (313 1) BB RMM—KELEL, H e =

B V2 V2 3 (B1,81) —
_ (V2 2 _ o
(5153’1) - (77 T,O),e2 = m = E(3’ -3, 1).

() &% a = (a1,a2,a3) € W, & (o, 1) = 0, (a,alphas) = 0, B a1 +as = 0,a; — 2as + az = 0, f#%
a=(t,—t,—3t). XR* =W @ W, Bt dimW+ =1, W = span{es = (1,—1,-3)}.

3) itz =(0,0,1),Px = (x,e1)e; + (x,e2)es = (6,—6,2).

S15% 1.108 (SEEE=EE 24 )
BaH R Py EfzEE R LK EH: ob=b—2a,ba EYW: o AEXEH, HFRR" 8h—44F
BERK, 417 o BinAA TSR R A M

)

WFEA /b, o/c = (b — 2(a,c)a,c —2(a,c)a) = (b,c), Al o7 BEXZ#. W ay TRR PH—HAE, EXHH
HATERHERMN, REEBECA, o 72X H 5 TR [ M 4R FE.

SIER 1.109 (BEEE 26 &)

%
1 -2 0
A=|-2 2 -2,
0 -2 3
RERSER P, 1& P71AP A3t A, it AR, k& 8R4 N
R det{(A] — A)} = (A= 5) (A —2)(A\+ 1). BB H i35 FHIEA S5, 2, -1 AEGENHA:
1222 1 20 2217
(33 373) ’(37 37 3) 7(37353)
2 2 1
3 3 3
TA|2 -1 2| %P 'AP =diag(—1,2,5). it H 3 &
12 2
3 3 3
4(=1)k 42042 5k g(—1)k — kL 2.5k 2(—1)k —2k+2 1 9.5k
AF = | 4(—1)F —2k+2 9. 58 4(—1)F 4 aFt2 4458 2(—1)k 4 2k+1 4. 5k
2(—1)F =282 4 2. 58 (—1)k 42Kt —4.5F (1) 42K+ 4 4. 5K
SR 1.110 (BEEE 27 &)
iR FRIZAFMEFTRRAANRL, F—ANLLRE.
(1) A ZRF#REy; (2) ARERHE; (3) A2 =1 .
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IEEA (D)+(2)=(3): A2 = AAT =1.
(H+(3)=(2):A%2 = AAT = I.
Q+B3)=(1): B AEX, AP =AT X A2=1] HiEEZHE—H, mA=AT.

SRR 1111 (BBEEEE 29 @)
BRARNNENARTE, A2 = A9 BEELXGET 845 T AT = diag(I,,0), £ 2 r = rank(A).

[ )

WERH B A BXARLAEE, MmEEEREMR P, #F PIAP = diag(h, Aa, -+, M), 2P N ZEEE A BRRAEE,
HEME AELSLSTR 2% — o, HIVERE AWREERNO0, . AEARBEETIMNNWEREERERE, TR
TEIER A T EH T-LAT = diag(I,.,0).

SRR 1.112 (BB EEE 30 &)
1% A ;% n F{r%ifﬁﬁ?ﬁl‘i Pha) P ma:ro;,exewﬂ—'qf = >\max’ XY )\max ;E‘Z: A éﬁﬁk#%ﬂ{ﬁ

|

R BAEREM P, 5% PTAP = diag(\1, -+, \). % o = Py, NI max”’wTT‘ig” = max% = Amaz-

BV R0 NEFELRMAGEEEN. A, BeV, 2L (A, B) =tr(ABT).
() ER: (A, B) AR, Kd V E£iZ WART R A B .

(2) & A= (aij)nxn €V, K AGEK,

Q) KRS By REMMRV 69 —8ATE ELA? FHL AL,

WERH (1) deEME T = R A A = ST ER.
2 Q)[4 = Vir(AAT) = | 3 a2,

4,j=1

(3) A Rk 4B IR R BT A R LS.

S5 1.114 (BEEE 32 &)

Roar,ag, o an An ERKERV G—meE. 2 LHE Gram %% G = ((a;, ) € R™*™,

(D EA: g, ,an MRV 89— % HAXY det(G) # 0.

Q) Koy £—HIFEERETHLEN 25,0 = 1,2, ,n. 38 X = (21, ,Tn) € RP*™. W det(G) =
det(X)?.

[ )

WA (D) ag, o, o MEREENT kiog + - +kpan, =0 REEBENT (krag + - + kpan, ;) = 0,Vi %
HF G (BEREEFEE, FHIEMET ).

Q) #TF (@i, o) = al oy =alz;, Al G = XTX, # det(G) = det(X)>.
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